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Exercice N°1        
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�̇ = �� = ����…………………………………………………………………….…..0.5p 

�̇ = �� = 2.23	�/�………………………………………………………………..…0.5p 
L’axe lié au point O 
x(O)=0 ;  y(O)=0………………………………………………………………………..0.5 
x(K)=Rsin(V/Rt+φ) ; y(K)= Rcos(V/Rt+φ) ……………………………………………..1p 
L’axe lié au point O 
x(O)=Vt ;  y(O)=0…………………………………………………………………..…..0.5p 
x(K)= Vt +Rsin(V/Rt+φ) ; y(K)= Rcos(V/Rt+φ) ………………………………………..1p 

Exercice N°2    
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Exercice N°3  
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= ��̇�̈ + (�� + ��)��̇ = 0………………………………………………………...2p 

 ⇒ ��̈ + (�� + ��)� = 0⇒ �̈+
(�����)

�
� = 0 Équation différentielle de second ordre…2p 

 

 

 


